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A £ 0l & AF & & Al A

0249 204 LESI| SUHEAEALE

S SUHEAEAE
M g 43t JIUF =

chel: 2iE A 438t EEREED)
SIA - B O9l(S) - HSA - BAS 01l &k e HimE==]
HHEAIEAIE A 999,149 2,699,249 21,700,100
HOE E4Ast Olgh =4 936,903 2,699,249 A1,762,346
=2id XA 243 81,000 276,800 A~ 195,800
=SOHE A &M 81,000 271,800 A 190,800
201 et 3| 31,000 30,000 1,000
01 AR2t2 ] 1,000 0 1,000
OLHHE 4E013 4EEUSS
1,000,000 *14! 1,000
0 22| 30,000 30,000 0
OHIIE 2R LS BBRB(4E, 8|S
& S) 30,000,000 *14] 30,000
401 AIEHIL 2B 50,000 240,000 190,000
01 A&l 50,000 240,000 A 190,000
OEUE (=H)AEE A2
50,000,000& 14 50,000
SHIZ2E AIEALS 130,000 1,751,200 21,621,200
FAHZHEDD =4 130,000 1,751,200 1,621,200
401 AIEHIL 28] 130,000 1,750,000 A 1,620,000
01 A&l 130,000 1,750,000 A 1,620,000
OEUA EX OrMstER LAY
50,000,000& 14 50,000
OEUHE HMZAMH J2ELAS
50,000,000 *14] 50,000
OEla HEU=E HEXSF ATHAIY
30,000,000 *14] 30,000
H2UHE Ald=2 2l 725,903 671,249 54,654
SUHE MSAIE 2l 231,860 103,000 128,860
101 @l 4| 50,600 50,600 0
M IIHZ2ENSE 50,600 50,600 0
OUIA=ZH J|2tH 22Xt 39,600
Outa=2=Z JIZtH 22X =S¢
2,000,000& x2F 4 & 36,000
Oua==F JI2HH 224t 282
200,000 «2E I = 3,600
Os=01& JIZtH 22X 11,000
O==01E JI2Hd 22X 2™
2,500,000 x2H 204 & 10,000
O2=01& JIZH 224 B2
250,000 2«20 & 1,000
201 Let24EH| 4,660 2,400 2,260
01 Ar22teltl 3,100 0 3,100
O&=J| Xz 600,000 14 600
OM=AE 2E 228 7
2,500,000& 14 2,500
02 33=2Zt| 1,560 2,400 A840
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S S A5 J|gt =4
cel: EHE AIEE 2t EEREED
SA - B CORI(SH) - HISAY - BaS 01l b e HID 2t
OUtaZ2LH Iyl L HEHL)| 0ls=
130,000& = 12& 1,560
401 AIEHIL 28] 139,600 50,000 89,600
01 AlEYI 139,600 50,000 89,600
Oma==F & HiE
30,000,000 *13] 30,000
QOUIa=ZZH AMEZS S 2t
10,000,000 14! 10,000
OLtHEE XFAIE S22 (02E, &2
& 3S) 10,000,000 *14] 10,000
OWaA=ZH 0ls4A ElA &X
40,000,000& * 14 40,000
oma==a Hxl &xl
600,000 * 1874 10,800
Q2T H 0|sA &A &X
28,800,000 *14] 28,800
QIct2EZ2EE OsY diIXl &X
2,500,000 =44 10,000
405 KR SH| 37,000 37,000
01 XML =BF S| 37,000 37,000
OMIABDE &8 HSBUH 7Y
7,000,000 *1CH 7,000
oua=xE &30 ¢
30,000,000 *1CH 30,000
gid =& 2l 35,000 30,000 5,000
201 B2 3| 5,000 0 5,000
01 At 22| 5,000 0 5,000
OS=01T ASAE 7Y
4,000,000& *13] 4,000
O2=01& 228 ¢
1,000,000& 14! 1,000
401 AIEHIZL 20| 30,000 30,000
01 AlEHI 30,000 30,000
OS=01E KAl 30,000,000 14 30,000
g =& | &2 399,043 466,849 A67,806
101 el t| 78,2% 0 78,295
M IIRHHMZ2Z2XRSEs 78,2% 0 78,29%
OYUA HNA(LASH, HHetA, 03t
2, FUEFA BR=32) TF 2L 78,295
OJlE= 100,330 x 132 x4 52,975
(OES=Et= 100,330& *24 2 +4H 9,632
ORrsSid 100, 330& 62 x4 2,408
OuSH| 5,0002 132 x4 2,640
O3 &t 5,0002 132 x4 2,640
o4 =2 8,000,000 *14] 8,000
206 M= 4l 6,000 0 6,000
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N JE 435 Jlet =4
Sl JOE Al8E 22 (s 2 g)
SA - B S(ST) - HISAR - BES Ofl kot e MimE=T;
01 THZ 4| 6,000 0 6,000
OFH 22 HlZg S XM
1,000,000 «6& 6,000
401 Al HIZLE0HY] 314,748 466,849 A 152,101
01 Al&HI 311,500 466,849 A 155,349
OXMIBEAIH (49,285m") XA 2te|
126,000, 000& *50% 63,000
OMZ2Z=HH(13,500m) XA 2e|
19,000,000 & * 14! 19,000
ORI ZZEH(3,950m ) =A 22|
8,000,000 14 8,000
OCIXFIH2l(6,005m) A2t
14,000,000 « 14! 14,000
O3tz (25,766mM ) ZAH 22|
153,000, 000& *50% 76,500
OS0|2&(24,770m) XA 22|
42,000,000 * 14! 42,000
OMEA(10,485m") A 22|
27,000,000 14 27,000
OMENZ (5, 746m ) A2
7,000,000& 14! 7,000
OREE YUR(5,048m) 55,000,000 x14! 55,000
03 A& 20| 3,248 0 3,248
O HE =Z&el f0it|
451,000,000 *0.72% 3,248
SHUE HSAIE & | 22 60,000 0 60,000
401 AlEHIZLE0HY] 60,000 60,000
01 Al&HI 60,000 60,000
OMNAIL(0tRE, FRE, I3 3
x4 22 40,000,000& x1A! 40,000
OMSAIL(=ERZT, 2= ) &L i
& 20,000,000 14! 20,000
HMSALH|(LUHEAIZAIE A) 62,246 0 62,246
CIHASAH|(HUHAEAILAIE A) 33,278 0 33,278
ClEA2AY| (YA AL AL A) 33,278 0 33,278
101 Q121d]| 33,278 0 33,278
01 B4 33,278 0 33,278
oxU2R
11,319 x7H*35A 2H+ 12 33,278
J2ZHI(LHE A EAIS ) 28,968 0 28,968
JI2ZHI(ZHEAEAIE L) 28,968 0 28,968
201 LEtE2A| 13,488 0 13,488
01 AFR2telt] 13,488 0 13,488
Ogt=Z2H| 7,080,000& * 1Al 7,080
OZ2&H| 2,683,000& * 1Al 2,688
(©EIpNE= 3,720,000 1A 3,720
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Hu: HHS A (LUHAILAIA)
ol JI2UI(HUEAEAIE L) (E+9: M)
SA - B O9i(82) - HRAR - BaS Ol & e HImS2t
202 04d| 10,100 10, 100
01 =G4l 10,100 10, 100

O=LHoidl 10,100,000& * 14! 10,100
203 R F=&Y| 5,380 5,380
01 J| 22 RFEH| 3,000 3,000
OJlB2Y YREAY|
3,000,000 *14] 3,000
02 RAIWHARFEIH| 280 280
O&ERIM HRZHY| 280,000 x14! 280
04 RA2LYRFAHI 2,100 2,100
OFAN2Y YRFLH
2,100,000& 14! 2,100
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